8 7 6 5 4 3
- NOTICE - REVISION HISTORY
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION OF DANFOSS DRIVES. IT IS REV ECN NUMBER ENTRY BY DATE
LOANED BY DANFOSS DRIVES SUBJECT TO THE CONDITIONS THAT IT AND THE
NFORUATION EHBODID THEREI S B2 UsED ONy FomREcorp A Rerernce 002 | ECNSP13020 M 04/10/2013
TIENTenEsts O ShGES RIS SHALL T ¢ Rermobu oo Rt 005 | ECNSPiI4s | 0712912013
DANFOSS DRIVES, AND SHALL BE RETURNED UPON REQUEST. 004 ECNSP14050 JMH 09/05/2014
005 ECNSP19086 JJH 07/23/2019
6255 = G == H =
[2.46]
— 417.0 =
——— 304.00 ——= - J =
- — 16.4 R
| D | [ ] 4 .55 — [11.97]
3800 2500 + [18] ~ 15200 — = = K -~ SEE DETAIL B
[15.0] [.98] W [5.98]
- 1 [ | 1 ‘ _
% @) ) ) ) @ ﬁ A D b & ftf -© — o O
T | T T
i g o
1] =] : % i
,:\ : é
[
% I |
| o o
-/
C o o B A
1 || |
A
. J \
— o o
\
o o o o o o = o
O O
J
ﬁl——ﬁr\ 4
il 0 g
© o i i E o /
V " — i -
- = - = = v —_——— & V ) . ﬁ ﬁf
USE M10 MTG BOLTS OR %014907(; =
53 00 3/8" MTG BOLTS SEE DETAIL A '
[2.28] - E = F —=
e = 4X11.00 7X ) 11.00 47
USE M10 MTG BOLTS OR [43] [43] TIER 2 DIMENSIONS
3/8" MTG BOLTS A B C D E E G H J K
Zk D1 ERAME 1154.0 1209.9 1163.7 754 .1 426.0 200.0 383.5 285.0 232.5 52.5
47 25.00 [45.4] [47.6] [45.8] [29.7] [16.8] [7.9] [15.1] [11.2] [9.2] [2.1]
] W 98] 0o FRAME | 15345 1588.2 1542.8 850.6 438.0 271.0 386.5 374.0 327.0 47.0
_ | /N [60.4] [62.53] [60.7] [33.5] [17.2] [10.67] [15.2] [14.7] [12.9] [1.9]
ZP 4§ S = = o
20.00 9.22
[.79] [.36] DETAIL B D-FRAME MAX WEIGHTS
DETAIL A TOP MOUNTING HOLES TIER 2
LOWER MOUNTING HOLES SCALE 0.500 420 Ibs
SCALE 0.500 DTFRAME 1 1190 kg]
D2 FRAME [g:;% 'ES]
NOTES: g
UNLESS OTHERWISE SPECIFIED PROPERTIES
1. THIS ENCLOSURE CONFIGURATION IS USED INTERPRET DIM.AND TOL.PER |  MATERIAL
FOR ALL OPTION COMBINATIONS EXCEPT BYPASS ASME Y'14.5M-1994
WITH DV/DT FILTER OR LINE REACTOR OR CONTACT MOTOR Xi04 XX-020 405 FINISH
SELECT OR DUAL MOTOR. DIM.ARE IN MILLIMETERS THICKNESS T Bne) 630.5600. FAx (815) 630-a00g | NOS OTTITUSA
WEIGHTS ARE IN KILOGRAMS | EST.WEIGHT | SEE TABLE
2 AT MINIMUM THE TWO OUTSIDE LIFTING POINTS THIRD ANGLE PROJECTION | APPROVALS | INITIALS DATE |
ARE REQUIRED WHEN HANDLING THIS UNIT. DRAWN " 08129112 INSTALLATION DRAWING, P650, D1 D2 TIER 2/ TIER 3
@ S CHECKED b o P650-3 ASSY 005
ENGR 0.200 ' 174N8666 1 OF 4
8 7 6 5 4 3




8 7 5 4 3 2
62.55 = = G e H =
[2.5]
}< D - 417.03 - — ?1261_65]0 = ?1024.-6(30 - — J 4%
[16.4]
— 30400 — =
455 == [12.0]
- 3800 = 1.2] ——SEE DETAIL D
[15.0] — 15200 — — = 152,00 — =
25.00 [6.0] [6.0]
|
o & & ﬁ l s e
) T 5
| @ 0
| % o
= z ]
| i i
] 1 [
O
(i 1| * *
@ E AT AT
— : | |
-/ -/
N
C o o B A
TN TN
‘ \ ‘ \
o | |
—— —— o o
| | H H
O O o o
O O
1 | 1 E
0 °l e 2 = . 0
o | i i o i K o & o ﬁ( ;@(
e e i e R =L — e e e e =)
SEE DETAIL C E 1 F - —
-~ = 58.00
[2.28] USE M10 MTG BOLTS OR
3/8" MTG BOLTS
USE M10 MTG BOLTS OR — 12X 1[1 4%(])
3/8" MTG BOLTS '
I 6X 11.00 TIER 3 DIMENSIONS
47 ! [.43] A B C D E F G H J K
VRN
7 D1 FRAME 1154.0 1209.9 1163.7 1175.6 847.5 200.0 805.0 285.0 232.5 52.5
I | [45.4] [47.6] [45.8] [46.3] [33.4] [7.9] [31.7] [11.2] [9.2] [2.1]
Zh ZF h - D2 FRAME 1534.5 1588.2 1542.8 1272.1 859.5 271.0 808.0 374.0 327.0 47.0
20.00 g 99 [60.4] (62.53] (60.7] [50.1] 33.8] [10.67] [31.8] [14.7] [12.9] [1.9]
[-79] .36] < CADLEETA(S”BOCO DETAIL D
: SCALE 0.500
D-FRAME MAX WEIGHTS
TIER 3
585 Ibs
NOTES: DTFRAME | 1965 kg]
1. THIS ENCLOSURE CONFIGURATION IS USED D2 ERAME = 1070 Ibs
FOR ALL OPTION COMBINATIONS CONTAINING BYPASS [486 kg]
WITH DV/DT FILTER OR LINE REACTOR OR CONTACT MOTOR
SELECT OR DUAL MOTOR.
2. AT MIN'MUM THE TWO OUTSIDE LIFTING POINTS INSTALLATION DRAWING, P650, D1 D2 TIER 2/ TIER 3
ARE REQUIRED WHEN HANDLING THIS UNIT.
P650-3 ASSY 005
0.200 ' 174N8666 20F 4
8 7 5 4 3 2




CEILING

AIR OUTLET

ﬁ
Q)

|

228.6
[9.00]

J;

AIR OUTLET

ﬁ

AIR FLOW SPACING REQUIREMENTS

O 11 e W
o __ Q @ 4 O O O O O
O o | .
o AIR OUTLET O AIR OUTLET }
w = 5 5
\
g T :
N 1 : !
C) | 1 |
O (|
O O
| E e
| I | i ;
- ‘ : @
O
O
O
O
O
<J AIR INLET <<JJ AIR INLET —
O
O O
(o]
® o © el
® ® ® @ o o @)
il ® ®
®
J ® ? ) ) | i
<<JJA'R INLET <J AIR INLET | | | |
© © o = 1 | :
“ . : : - :
s | 1 1
o o i : 1 1
® i j— i |
o o o . § \ \
T = =] © o o o O
] =
/& @ @ @ @ | ‘D‘ 0 A ‘D‘ ] @ o o \EI\ I o o \EI\ I o o \EI\ I i | o \EI\ N o \EIEI\ N o \EIEIEI
} H H H H H H E} H H H H H H H H H E} H H H H H H } O tooooooooooooooooooooooooooooooooo O | O ooooooooooooooo0oo00oo0oooooooooon O
AIR INLET <J AIR INLET 00000000000000000000000000 i e i
200.0 s | e |t
[7 87] 0000000D000000000000000000 OOO0000000000000000000000000000000 0O0O0000000000000000000000000000000
. } H H H H H H E} H H H H H H H H H E} H H H H H H } 000O0000000000000000000000000000000 0000000000 000000000000000000000000
® OONO0000D00000000000000000 @ | © SEEEE9EEnPeee e eeeee e meeeaeeaees © | © 5B Pee e Peee e eee e eeees ©
#] ® ® ®
L4 =il

PEDESTAL MOUNTING PATTERN

A

B

C

289.8

D1 FRAME [11.41]

328.9
[12.95]

750.4
[29.54]

384.8

D2 FRAME [15.15]

423.9
[16.69]

845.4
[33.28]

WALL
MOUNT

DRIVE/PANEL CONFIGURATION

PEDESTAL KIT

QTY

D1 TIER2 (NEMA 1)

185B6017

D1 TIER2 (NEMA 12)

185B6018

D1 TIER3 (NEMA 1)

185B6019

D1 TIER3 (NEMA 12)

185B6020

D2 TIER2 (NEMA 1)

185B6021

D2 TIER2 (NEMA 12)

185B6022

D2 TIER3 (NEMA 1)

185B6023

D2 TIER3 (NEMA 12)

185B6024

— — — — — — — —

PEDESTAL
MOUNT

FLOOR

- C = 380.0 =
[14.96]
) B == 380.0 — &
[14.96]
207 = A =
[.81] )
L Du/% ‘ ‘ r'ﬂ’i
ﬁ)J (U] [T N

313.3
[12.33]

\%:J

ﬁ‘@ {

235.0
[9.25]

SEE DETAIL E

K}] @

g

#,
N\QO_|
]

—

246.0

315.2
47 [12.41]

\ | |
[9.69]
" @) O @) O
EaRe - - i pek - -
— — —

25.0
[.98]

—— 140
[.55]

- 11.0
[.43]

4|><5—‘
O

~_

DETAIL E
TYPICAL
SCALE 0.400

TITLE

INSTALLATION DRAWING, P650, D1 D2 TIER 2/ TIER 3

SIZE

D

MODEL

REV

P650-3_ASSY 005

SCALE

0.200

DRAWING NO.

SHEET

30F 4

174N8666




SERIES

SERIES

208V FC 302 (HOINO) | FC 102202 TRAME
HP 60/75 75 D1
KW 45/55 55 D1
HP 75/100 100 D1
KW 55/75 75 D1
HP 100/125 125 D2
KW 75/90 90 D2
HP 125/150 150 D2
KW 90/110 110 D2

SERIES

230V EC 302 (HONO) | FC 102202 TRAME
HP 60/75 75 D1
KW 45/55 55 D1
HP 75/100 100 D1
KW 55/75 75 D1
HP 100/125 125 D2
KW 75/90 90 D2
HP 125/150 150 D2
KW 90/110 110 D2

460V Ec 302 (HOMNO)  FC 1021202 TRAME
HP 125/150 150 D1
KW 90/110 110 D1
HP 150/200 200 D1
KW 110/132 132 D1
HP 200/250 250 D2
KW 132/160 160 D2
HP 250/300 300 D2
KW 160/200 200 D2
HP 300/350 350 D2
KW 200/250 250 D2
SERIES
O00V' " Fc 302 (HONO) | FC 102202  TRAME
HP 125/150 150 D1
KW 90/110 110 D1
HP 150/200 200 D1
KW 110/132 132 D1
HP 200/250 250 D2
KW 132/160 160 D2
HP 250/300 300 D2
KW 160/200 200 D2
HP 300/350 350 D2
KW 200/250 250 D2
HP 350/400 400 D2
KW 250/315 315 D2

TTTTT

D

MMMMM

P650-3_ASSY

SCALE
0.200

NNNNNNNNN

174N8666

EEEEE




	Sheet 1
	Views
	VIEW_TEMPLATE_1
	VIEW_TEMPLATE_3
	right_4
	A
	B

	Zones
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1


	Sheet 2
	Views
	new_view_14
	right_15
	right_16
	C
	D

	Zones
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1


	Sheet 3
	Views
	new_view_20
	new_view_21
	right_22
	bottom_23
	E

	Zones
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1


	Sheet 4
	Zones
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1



